Exercise 2 Part A: Horizontal Alignment, Simple and Spiral Curves

You were told to fix a substandard curve on Route 179.  Looking thru the old files, you find the following information:

Route 179 is a Rural Principal Arterial with an ADT=1500.  Posted speed is 50 mph.

The curve must fit between the back bearing of N 85( 49’ 13” E and the ahead bearing of S 56( 39’ 24” E, which makes a  = 37( 31’ 23” (RT) (37.523 degrees)

Other assumptions: rolling terrain, 2-lane roadway

A) Design a new curve using either the concepts learned in class or using the Green Book.  Find the length of curve, and the tangent length.

B) If PC station is 15+63.34, calculate the PI and PT stations.

C) When does MoDOT suggests using spiral curves?

D) Design a spiral curve based on the Std. Drawing 203.20 and compare the answer to the AASHTO Green Book. 

1) What’s the transition length, Ls?

2) Calculate the stationing for the SCS combination.  Use SC station 16+50.42.

